T THUVUIN

658

NILBART S T76841

PUSH-PULL TYPE TOGGLE CLAMPS 6841

No.E-9483

(ERON)" AMFQ)

6841:55400 6841NI:SUS304
6841 :FIHA v+ ISV T 2RI 1—

N AN
AN \\
- /
~. ./
LR €
No. A B . C D E F G - H o IGEe) J K L M  N@mB = O
6841-0 6.5 33 16 45 : 13 . 16 : - 12 M10x1 10 016 : 25 © 65 M 4x0.7 = 12~20
6841-1 8 445 20 45 20 20 16 15 MI12x1.5° 16 195 30 | 7 M 4x0.7 : 12~20
68413 |12 68 32 65 30 30 (30 25 M20x1.5: 22 1425 60 13 M 8x1.25 22~35
68415 |16 815 40 85 50 35 295 30 M24x1.5: 25 46 - 65 16 M12x1.75: 30~50
6841NI-0 | 6.5 33 16 45 : 13 16 - 12 M10x1 10 016 : 25 © 65 M 4x0.7 = 12~20
6841NI-3 (12 69 32 65 30 @ 30 1295 25 M20x1.5: 22 1425 60 13 ‘M 8x1.25: 22~35
U Rl EES * [EEIEER
F—5"—No. No. AN RIUNEXEYF ME)XES - 2EX2E BEkg i
* 992366 6841-0 0.8 M 4x0.7 x20 66 x 47 0.07 10,500
* 992367 6841-1 1 M 4x0.7 x20 91 x 60 0.13 10,900
* 992368 6841-3 2.5 M 8x1.25x35 140 x110 0.45 13,500
* 992369 6841-5 45 M12x1.75x50 171.5x126 0.88 20,900
* 992370 6841NI-0 0.8 M 4x0.7 x20 66 x 47 0.06 16,200
* 109483 6841NI-3 25 M 8x1.25x35 140 x110 0.45 23,400
m{ERE msER-y
NURILEE |5/\“—=\:v‘y7°6893

P.550 »

CADF—999v0— K « EERAIE Web 91 bT! [ 7 AT

|

SINCE 1560

NABEYA co., LTD.

2023.7.21



